EARAROBEEIERT — 2 N— IBISH —F 20155108250 (H) 4m%=7H

mﬁi% 3E 1000AT (RE) UET] TE ‘ Xz # ‘ (EsEl - | 4 (&) 16000 B
[A&4] 1 7 10,500,000 2 7% :4,200,000 33 :2,600,000 ™ 4 3%:1,600,000” 5 3&:1,050,000 M
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6| AT TILA K- # 3 SESI_F%*%E 1:(3_8).0 77 |36.7[100.6 | 1 | 492 gg%: ()
QAXEFY BAATNATILT ®2) ms mae
2lgl14l 7B 7RXE-LZX 3 | pES 1(:13/82.>1 14-14 | 36.2] 9.7 | 3 | 454 E;fﬁgé ()
R:yATE BALLRLY—F 9| meais
e . 7 . = EILER (i
3058 | FH—rETL—> it 4 gg?g#ﬁi’r (12318/25> 12-12 | 36.9] 96.0 | 9 ;1_73 (*ﬁ) ;J%f)j/ﬁiA
Li¥rs07Oq B:YIyTATNA-b HET7— L4
41712 ®YV>X—VTY > 25 ;ﬁ%k%ﬂ (173;75) 14-14  [36.6| 96.0 | 5 | 508 %éi% (=)
A2:Successful Appeal £}:Yanquee Reign (+4) S. D. Brilie, L.
S 4 3 | FrHEA 1:38.6 9-9 37.21 95.0 | 10 | 460 |/MEILE (K#)
55|09 2Z71)=T74 R ‘ A50.0 (3/4) (+4) |NBES
L:ALNvTyFIE B:ULZXaA5T0)— SRS
®FLTFTHL—I £ 5 fst“%ﬁi 1(73?:53 12-12 [36.9| 95.0 | 13 | 500 %l;?ﬁm(%ﬁ)
R:RAFINTYT B:U—ILETTLR 19w wx
45350 H o4 ;t;%k&ic 1(;33/%7 44 |37.7] 935 | 2 | 432 ﬁg;ﬁi\;fa S
Q810 U5 FUA-05 2 | gmus
75 —aFILF # 6 %_E%%E 1(/73?:) 6-4 37.7| 92.8| 6 | 498 Egﬁ% (=)
RFALZTr—R B AT =7 O | fmes
ITY—"717Y— o4 sigzgiRE-;‘ﬁ (11.319/.3 3-2 38.2| 90.7 | 8 | 476 //J\\ﬁ?lgg (=)
RITNFRFL2 Bk R AN 0 | Bachsma BEBERHS
wolglis| vavFrrsay H 6 ;ﬁl{akﬁ— 1(739t; 2-2 38.4| 89.9 | 7 (5_022) é;’;g% (E®)
RHLRAHE—Y BT —HINAE— (B) #HAEA-FKL—va>AE77
" . ERPEREEE #oo | Bt K7 A R R et IR A vec-
R:ZEFa—ATUNT 4 Bit—v—FLyio (B) #HBI-FKL—va>AET7
121 7]13| Yy >>ATy b # 5 | IEHRS 1(:13/92.)3 9o-10 [ 37.8| 88.7 | 12 ;1;2) Zﬁ\ggi (FER)
L:7RvA4¥av—-> BLESU-T ® s
a1l | Ty yHrnTe #o6 | ERAS }/geﬂs 9-10 | 37.8| 88.7 | 15 | 490 ﬁ{iﬁﬁﬁﬁ%f)ﬁ
QA hh—b B:759FL b o—h O =g a
jt 5 | MEESR 1:39.5 4-4 38.5| 86.4 | 14 | 514 |MURHE ()
upls | TV7 -7 5.0 (1'1/2) () E4h - TU—H—X - 1=F
R:TTEEE By s TrA - 42 | g
N . FEE . _ THiE
1Ml 11| T RTN—H— # 5 | BER (11319/5 -1 |39.0| 85.0 | 11 <4+722) g%ﬂéﬁg;ﬁ;)}]
L:7A7% B:T714—-IKYLTF— (B) A3 —-RKL—va>aE77
@ 21 L
£ 50.1-37.3
NA>ZA L | 12.6-10.8-11.9-12.6-12.8-12.5-12.0-12.8
® 1—F—@EBIERL
13—7F-
2ol=5"=
Jo=5r= (x11,15)5(3,7)4(2,6) (1,9,13) (8,10) (14,12)
43—+ — (x11,15,5) (3,4,7) (2,6)9(1,13) (8,10) (14,12)
[ RN
B 6 360M 714K 6-14 610M B 4-8 550 JEE 6-8-14 11,980
B B 6 1809 6-8 2,130 B = 6-14 1,340 3EE 6-14-8 42,7504
14 210M 8-14 2,630M B E 6-14 2,450
8 590F9

ABICOVWTRDTEEERROODE. TR LIV,




